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ELECTIVE COURSE : COMMERCE 

ECO-5 : MERCANTILE LAW 

Time : 2 hours 	 Maximum Marks : 50 

Note : 	Answer any five questions. All questions carry equal 

marks. 

	

1. 	Who is a minor ? When can a minor enter into a 

valid contract ? What happens if a minor 

misrepresents his age ? 	 2+4+4  

	

2. 	Define and differentiate between : 	 5+5 
(a) Misrepresentation and fraud 

(b) Coercion and undue influence 

	

3. 	Explain the remedies available to an aggrieved 10 

party on breach of a contract. 

	

4. 	How will you determine whether a group of 10 

persons constituted partnership. Explain with 

examples. 

	

5. 	Explain the rule of "Caveat Emptor". What are 

the exceptions to this rule. 	 6+4 
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6. 	Who is an unpaid seller ? Explain his rights as 
against the goods. 	 2+8 

	

7. 	Explain the duties of bailor and bailee. 	5+5 

	

8. 	Explain the following : 	 5+5 
(a) Irrevocable agency 
(b) Discharge of a surety 

	

9. 	Answer the following problems. Give reasons for 
your answer : 
	 5+5 

(a) B borrowed from A 40,000. C, D and E 
were co-sureties who had bound themselves 
in sums of 10,000, 15,000 and 25,000 
respectively. How much each will pay if B 
does not pay ? 

(b) A buys 'LUX' soap specifically. The soap 
turns out not fit for bath. Is the seller bound 
to take it back and if so why ? 
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